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1. 4 2i1EE59fr[Lexical Analysis]?

- HEEREAA, IRBIFoES
- W BRERF, Wil tokenFFl
— tokenZ~: <35, BMHE>

— tokenE2 B/ E1EEAN]?

v’ Ovar, $num
main( )

arr[10], 1, x = 1;

for (1= 0; 1 < 10; 1H+)
arr[1] = x * 5;

AY|

S1EEENXHIE

keyword(for) id(arr)
v RBF. IR, EE. EE/KFE symbol(()

id(i)
symbol(=)
num(0)
symbol(;)
id(i)
symbol(<)
num(10)
symbol(;)
id(i)
symbol(++)
symbol())

symbol([)
id(i)
symbol(])
symbol(=)
id(x)
symbol(*)
num(d)
symbol(;)

AIEETS (token)

Source Code

}

Lexical Analysis

Token Stream|

Syntax Analysis

Syntax Tree |

Semantic Analysis

Syntax Tree|

Intermediate Code
Generation

IR |

Optimization

IR |

Code Generation

'
Target Code
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1. 4 2i1EE59fr[Lexical Analysis]?

* j:El }ﬁ;}g$EJ

o {51

— N

v

- Bix: BFEFSEUD A

- T

A

o e w— N . .2
%%fguw, 155! ﬁ\ﬁﬁtj

S1EEENXHIE

FR/EECT (i == )\n\tz = 0; \nelse\n\tz = 1; \n”
A

Htokens

@ FBRiERE: /* simple example */
@ Haltokens: ‘if ("0 == L

® RZltokensFiIBRIEE]: (keyword, ‘if’), (LPAR, (), (id, ‘') ......

— Y

J [ ]
] .

(keyword, ‘if’), (LPAR, ‘(‘), (id,

)

AIEEKRFS (token)

/* simple example */
if (i ==j)

z=0;
else

z=1;



2. 24 21E[token]?

» Token: 18, S/NENEITT
— RiEFHIYtokenzEHl
v Zialnoun, #fjiaElverb, fz@¥ialadjective, ...
- fREIE S PHItokenzEH :

v lZFnumber, X#igkeyword, @Hwhitespace, FriRFidentifier, ...

« B tokenZE BN — P EFEE R/ [a set of strings]

— number: IFEHNHFFRTE
— keyword: —HEERIFREZF(“for”, “if”, “else”, ...)

— whitespace: HHZTig&blank, FIFEX&Ftab, ¥{TFnewlineZHEBIIE=FES
— identifier: AP BEXRIERRRISLIRZ IR




3. 18 A9 ia[Tokenization/Scanner]

@ AT ITEs R RIRIC b TokenizationEk i3 fEEScanner
- B AFFFEX S AtokenFF
— XJtoken#HiT93 K ——tokenzE5l
v i@ Z[lexeme]: tokenzEHISLHI, flan: ‘z’, =", 1

v BIEEN HFtokenzE Rl . Hlilkeyword, identifier, whitespace, integerss

- BEI|ftokenEIENIEIEZ D TEE[Syntax Analyzer] (tBFRParser)
— parser{k#fitokenzERiIRBIAE (Hlal, XBFZSRRFHLELZRAR) .

<Id, ‘2’>
z=1 <Op, =7>
<Num, ‘“1’>

Character Lexical Analysis | Token Stream Syntax Analysis
Stream (Scanner) | Token = <class, value> (Parser)




3. |AD M. RIT[Design]

- E X tokenzsHl
- Eﬁi;l_iﬁﬁ:‘%/ N

- K TFIES. parserfUigit
v “if (i == j)\n\tz = 0; \nelse\n\tz = 1; \n”

Gl
\F
/

&
ITH
=)
=H

S5thER = WAV RIZIE S token3E3l
 Identifiers: getBalance, weight,....

 Reserved words: if, else, while,...
 Constants: 10, 3.14, “abc”, ‘a’,...
 Operators: +, -, *, /, <<,...

* Punctuation: (, ), ;, :,-..

Keyword, identifier, whitespace, integer

- IRBIRLE =T B JE T I8 MtokenzE 5l

if (i==

z=0;
else
z=1;

j)

‘==! or £=!?

keyword or identifier?

—



3. 18 Ao EIM[Implementation]

- EMB B A2 1S -
— RRIF T B Mtokensy 3

— iIR[Eltoken (B iA =
« —/MtokenE— 1 "JcH(class, lexeme)
ERFAEN

— 540 whitespace, commentsZ
« INRtokenzER 2L X MHHI, NWATLAEXEANFRFEBEFITRANERIAR
AP IRBITRIC
- {BtokenzEFIRIBERIE X [ambiguous]

—




3. 18 Ao EIM[Implementation]

o |55 \Y 2545 Template <typename T>
. T getMax(T x, Ty) {
— C++ EIRIE; return (x>y) ? x:y;
v Foo<Bar> }
_ C++ Bk int main (int argc, char* argv(]) {

getMax<int>(3, 7);
getMax<double>(3.0, 2.0);
o getMax<char>(‘g’, ‘e’);

v cin >> var

v Foo<Bar<Bar>> =TT

v cin >> var }

v EE: >> MERRERIRIERS, ERMNESENIESIE?




3. 1a Ao EIM[Implementation]

» “[AEIE[look ahead]" B LAREHRIEZ X
- BEEF AN LETXEHE cin >> var
- BiREDthEEparserfI R IR

* ANERtoken;e %
— tokenizing®] LAfEig Bparser =R ER F—IR5 Kk
- IR DREFIEED T

5 ==
2 =

limll




3. @ESHT: Bs

EESH

- BT S £ o token

- 1158 N tokenfyZE 3]

- NEEIG 3
SH%S

A Y|

if (i ==j)
z=0;

else
z=1;

"MABI&[look ahead]”
- MiZRE2E) "Mai&[look ahead]” BIEE

if (i ==j)
z=0;

else
z=1;

\o

‘if! E(! ‘i! £== J ‘j

J ‘)! I\n, i\t! ‘Z, £=! EO, i;!

‘\n! Eelse! ‘\n! ‘\t! ‘Z! ‘=, ‘1!

<keyword, if> <LPAR, (), <id, i>, <op, ==

~

_/
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1. 18558

« ZFMREIE L
— FIXH[Expressions]

RegularDefinition

< ERIFIXR [Regular expression] [ oo 1 | o
v IENTE X [Regular definition] {
DFA
- 1Bk ¥
v IEFSZEA[Regular grammar](3843i%) ReducedDFA

- B5 a1l =
v IRERE S Boitl[Deterministic Finite Automata (DFA)]

v ARERBS Bt [Nondeterministic Finite Automata (NFA)]
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2. IEMIZE XK [Regular expressions, REs]

» IENFRIATVA]

FE X token class

- HERED&EERA (BBRIARI)

- JLAMNAE B &Rk TokenizerSEI (f£R#ED
- RELINEE WA

02 iaiZHiE




2. IEMZRI1XT[Regular expressions, REs] 02 JFEHE
« EX

@ efNORY ERIIEMI, EMEL(e)={e}, L(P)=0;

@ WF{EMaey, aEY EHIERIIN, BRRZHIEMSEHL(a)={a};

® REMsEZEY EREMI, IIRRRIIEMESBIAL(r)FL(s), A,
LA B IEM VA IR R <AV IERLER

ETER e BREkIEE: () >
(r) L(r)=L ((r))=L (1) “ M| WEESES
r|s L(r | s)=L(r)U L(s) ab’cld a(b’)c|d
res L(res)= L (r) L (s) (a(b))c|d
r* L(r*)=(L(r)"

((a(b’))c)|d
@ NHERXERALA=ZENXHNRENTEY EREMTIN, XEXEEMRI

IR FET RS ERIEME

]




2. IEMJZRIXZ[Regular expressions, REs]

» 5+
- <3¥={a, b}, T ERYIEMAFBMNAIEMES:

IEALT IEREE
a {a}
alb {a,b}
ab {ab}
(a | b)(a | b) {aa,ab,ba,bb}
a * {¢ ,a,aa,...{E=1 afh}
(a | b)=* {¢ ,a,b,aa,ab ...... FrEHaflbHRLAY )

—



. IEMZRiX X [Regular expressions, RES] 02 {R)iEHIE

o IENIZRIXATVAIEN IR
—r|s=s]|r T R RE
—rf(s|t)y=(r]|s)|t T NESE
—(rs)t=r(st) “(EE) NEST
—r(s|t)y=rs|rt
—(r]|s)t=rt|st y s LT E S
—Er=re=r e " HIEFRE
—rl|r=r “1 " B9HHENEE re=g|r|rr]...

—



2. IEMZRI1XT[Regular expressions, REs]

=\

- BERAFTIX
— At least one: A+ = AA™
— Option: A? =A | ¢

— Characters: [a,a,...a,] = a,4|a,|...|a,

1 4 1 4

— Range: ‘a’ + ‘b + ..+ ‘'z EJ[a-z]

— Excluded range: complement of [a-z] = [*a-Z]




2. IEMZEXF [Regular expressions, REs]

- 5l

Regular Expression

Explanation

o
at

(alb)(alb)
(alb)
(aalabl|balbb)’
[a-zA-Z]

[0-9]
0([0-9])0
1°(0le)1”
(0]1)°00(0|1)"

0 or more a’s (g, a, aa, aaa, aaaa, ...)

1 or more a’s (a, aa, aaa, aaaa, ...)

(aa, ab, ba, bb)

all strings of a’'s and b’s (including €)

all strings of a’s and b’s of even/{fZi length
shorthandig% for “a|b|...z|A[B|...|Z"
shorthand for “0|1/2]...|9”

numbers that start and end with 0

binary strings that contain at most one zero
all binary strings that contain ‘00’ as substring

19



« B (alb)" 1 (a’b")" =2

. IEMIZE XK [Regular expressions, REs]

&FM?  Fin

(alb)” =
(L

(a b ) = 7

L(a™d))" = (L(a")L(b"))

=({a a, aa, ...}{¢, b, bb, .
= ({aabaaabbb

-£+{£ a, b, aa, ab, bb, .

b, ..)3 +

P

(alb))* =(L(a) U L(b))" = ({a} U {b})" ={a, b}
{a, b}° + {a, b}' + {a, bj* +
{€, a, b, aa, ab, ba, bb, aaa, ...}

)
)

..} +{¢€, a, b, aa, ab, bb, ..

2+ {¢g, a, b, aa, ab,

20



—— \_1] RS

2. IFMIZEiA{[Regular expressions, REs]

» BT
— Keywords: ‘if’ #; ‘else’ B¢ ‘then’ #@ ‘for’
v RE = 7'f + ‘e’I''s’'e’ + ... = ‘if’ + ‘else’ + ‘then’ + ...

— Numbers: JE= 8 FZRF R

\/d|g|t= ‘O’+ ‘1’+ ‘2’+ ‘3’+ ‘4’+ t5’+ n6a+ ‘7’+ ‘8;+;

9,

v HENXinteger = digit digit*, 1F[R]'000° &/ Ninteger?

- Identifier: INF BT BRHFOFH S

vietter=‘a’+‘b’'+...2+'A+B + ..+ =[a-zA-Z]

v BEEMRE = letter(letter + digit)*, HAREFSCIESH

— Whitespace: HZTH&. B1TR/F. S#IXRFHEIESFS!
V(£ H AR+ ALY+

ATRIRTTRIE X 157

21



2. IEMZRIX[Reqgular expressions, RESs] 02 i)iEHIE

« BIEIE=PJRES https://docs.python.org/3/howto/regex.html

Symbol |Meaning

\d Any decimal digit, i.e. [0-9]

\D Any non-digit char, i.e., [*0-9]

\s Any whitespace char, i.e., [ \t\n\r\fiv]

\S Any non-whitespace char, i.e., [* \t\n\r\f\v]

\w Any alphanumeric char, i.e., [a-zA-Z0-9 ]

\W Any non-alphanumeric char, i.e., [*a-zA-Z0-9 ]
Any char \. Matching “."

[a-f] Char range [*a-f] Exclude range

A Matching string start $ Matching string end

(--.) Capture matches

—


https://docs.python.org/3/howto/regex.html

2. IEMZRI1XT[Regular expressions, REs] 02 {7iZHE

- IEMIZFRIX = vs. IEM X iZE[Regular grammar]

_ mmmst  mEmE

1(1]d)* . KRR | | <>
IFRgES Hh C <EEHES | d || <2EEES |

Ha-zfZFE, dR0-9EE  d<FBE=>

ZIFSEE dd” <TATEEH>—d | d <KEFFSEEe

FROMEEREY, BERLAMNEANL

IERZUECIEMIS AR S 21 ANIBAR R IR S
MBS R BERR.

—




R4S (1)

SHCIES PARIRFFRIIERIZRIAT
(_|letter)( |letter|digit)*

ﬁ

HCIE S RIS N ENFAT
0[([1-9]1[1-9]%)

drr]

H2 B9S2 — i S = RAVIENZRIA T
(0]1)*0

dn

—



